
Approaching universal enrolment in 
elementary education  

Growth of the private sector, but unequal access 

Learning standards are falling 

Improvement in access has particularly 
benefited girls and Scheduled Caste children.  

Gaps are widening between boys attending private schools and 
girls, and between children from better-off households and 

poorer children. 

Only half the children were able to answer our maths questions 
correctly in 2013, compared with two-thirds of children in 2006. 

91.2 

87.3 

85.3 

86.8 

88.4 

96.1 

97.3 

96.6 

97.2 

96.1 

96.4 

98.7 

Male

Female

Scheduled Castes

Scheduled Tribes

Backward Classes

Other Castes

G
en

d
er

C
h

ild
's

 E
th

n
ic

 G
ro

u
p

 o
r 

C
as

te

2006 2013

Male Female Top Tercile Bottom Tercile

Gender Terciles of Wealth Index

2006 2013

46 

34 

72 

15 

Percentage of 12-year-old  children attending private schools 

Percentage of 12-year-old children attending school 

Increase in gap:+ 5% 
Increase in gap: +13% 

67 

53 

2006 2013

Average percentage of 12-year-old children who answered 3 maths questions correctly 

Example of one of the questions:  
 
Which of this is equal to 342? 

a. 3000+400+2 

b. 30+40+2 

c. 300+40+2 

d. 3+4+2 

 


